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QUESTION 1

Which two statements are true about the cross-charge method, Borrowed and Lent? 

A. Costs or revenue are shared based on transfer price rules with this method. 

B. You must set up the contract business unit to use this method. 

C. This method creates a formal internal invoice. 

D. This method creates accounting entries that move an amount equal to the transfer price between the provider and
receiver organizations within a legal entity. 

Correct Answer: AD 

References: https://docs.oracle.com/cd/E18727_01/doc.121/e13438/T188094T188101.htm 

 

QUESTION 2

When implementing Project Performance Reporting, your customer has the following requirements: 

Every time a project cost is greater than or equal to a threshold, then the project should be shown as critical. 

As long as a project cost is less than the threshold, the project should be shown as on-track. 

Which threshold level rule is ideal for this kind of KPI definition? 

A. single threshold level range 

B. single threshold level value 

C. multiple threshold levels 

D. multiple threshold level value 

Correct Answer: B 

 

 

QUESTION 3

As you go through the first-quarter close for your customer, you notice that the burden amounts calculated do not seem
to be right. Based on the calculations, you notice that the amounts calculated are not considering the burden schedule
override at a task level, which was done during the second month of the quarter. 

Identify the reason for this problem. 

A. You can enable automatic reprocessing of expenditure items processed before the burden schedule change. 

B. Only new expenditure items charged to the task use the new burden schedule; expenditure items processed earlier
cannot be reprocessed. 
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C. All expenditure items charged to the task use the new burden schedule. 

D. Only new expenditure items charged to the task use the new burden schedule; expenditure items processed earlier
can be manually marked for reprocessing. 

Correct Answer: D 

Reference: https://docs.oracle.com/cloud/r13_update17b/projectcs_gs/OAPJC/OAPJC1071490.htm#OAPJC1071482 

 

QUESTION 4

Your customer wants to automatically allocate unassigned asset lines and common costs across multiple assets based
on the construction-in-process cost of each asset. 

Identify the asset allocation method that you must use as the default method while configuring project types to meet this
requirement. 

A. Estimated Cost 

B. Standard Unit Cost 

C. Current Cost 

D. Spread Evenly 

E. Actual Unit 

Correct Answer: C 

Reference: https://docs.oracle.com/cloud/farel9/projectcs_gs/OAPJC/F1071495AN175A1.htm 

 

QUESTION 5

You want to export your project plan to Oracle Project Financial Management Cloud after initial scheduling is complete
in Microsoft Projects. Identify three conditions that must be met for exporting milestone tasks. 

A. only one labor resource assignment with 0 effort 

B. lowest-level tasks set up with zero duration 

C. lowest-level tasks set up with non-zero duration 

D. percent work complete values of 0 or 100 percent 

E. only one labor resource assignment with 100 effort 

Correct Answer: ABD 

Reference: https://docs.oracle.com/cloud/latest/projectcs_gs/OAPEX/OAPEX1082602.htm#OAPEX2161139 
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